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As is wont to be in all testimony in the Torah

OVERVIEW
The &773 contends that we should require two witnesses to confirm that the
vy was written nnwY, since that is what is usually required when we need
witnesses.
The 770 writes!': 131 2¥7¥ *3w 5 ¥ "3 DRVA 9991 1W 937 WX TR TV 0P K7
727 2°. From the words nXkvr 9971 17w 932 we derive that neither a monetary
loss, nor a physical punishment can be meted out without the testimony of
two 0>7v. Similarly the Torah writes® concerning a 3 that 227 N1 772 X¥7 *D.
We derive from the 927 727 mw 77°1), that also by mw R °1°7, such as v
YT we require two 2°7Y.
However in other matters of 201 MoK, like M w2 etc. as will be learnt in
the X3, one 7V is MX1. This is the issue we are discussing here; is this
testimony that the v was written 7125, similar to those that require two 07y,
or those for which one 7¥ suffices.
— 199093 17594

The text should read n»7v with a n'""®7 (referring to testimony), not N1y with a
¥"9. The meaning of N7y 3 is —

— IV 21T MINNIN 2T MTY P
For instance the testimony in monetary matters and in capital
punishment matters, in both these instances, two witnesses are required to either
compel one to pay, or to punish someone convicted of a capital crime. The X713 contends

that the same standard of two o7y should apply to the testimony in this concern of X
WY PRI, since it too is a testimony.

Moo presents an alternate RO
— ¥/7%92 179 O9T N
And there are those who render the text nvapy with a @', meaning

testimony concerning (illicit) marriage relationships, in which two witnesses are (also)
required®.

",00 (oowow) ooaT.

2 R3,70 oW

3 Those that prefer this reading of m™y, feel presumably that it is more appropriate to compare the v 9w,
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This rendering of the text does not seem correct, for if this reading would

be correct (that we are comparing this L1 9w to a MIvaw 127), what does

the X773 answer; that ‘a single witness is to be believed in matters of

T99R’, and therefore the m>w is believed as an 71X 7v. However the X3 is not
addressing the question —

— NI NOIN 12 N9Y NN PN 999D D In

Why does he mention that an X 7V is 1979982 1K1, for the laws of M9

are also laws of M193R, and we require two witnesses, and since this 7w is seemingly
testifying concerning a M ¥aw 727 which was the contention of the jwpn, we should also
require two witnesses”.

—Soyv 15D 199 NINY NIY INYD T XY 919930 1D 1IN 2am
And this is the way the X773 should have responded to the question (that
we should require two 2>7¥ since it is a MIYaw 127), that this testimony is
not similar to all other cases of N1y and the X723 should continue and

give a reason why this testimony is different than all other nvav, and one 7v is
sufficient. Had the X713 answered in this fashion, it may have been acceptable to be 0712
nvay 958, However since the Xm3 merely answers 1110°R2 7R3 TR 79, that shows that the
original question did not deem to compare this testimony to Ny, but rather to compare it
to testimony in general, which under certain circumstances (specifically 1’71 mann 2177
mw»l), requires two 0°7y¥. The X i answers that since this M7y is only concerning 710°X
and is not like m1mn *1°7 and mMws1 *1°7; therefore for MO°X one 7 is sufficient®.

mooIN attempts to justify the X077 of Nyaw:
—9PNNY PDIN JINI TAN 1Y INP 2NT 9D ¥ 1)
However perhaps one can say that this is what the X723 meant with its
answer that an X'"Y is 381 when there 1s a concern of "9 — he is
believed to permit the o) even by a MAwaw 717 -
— 1192999 Y5 INY 11T MONY 2591 231 995 Y27 N
And that which is an accepted fact that by a mayaw 727, two witnesses are

where we are seemingly dealing with w°X nwX issues, to a case of Ny rather than to n1»7v %3, which deal
with monetary and capital crime issues.
4 According to X071" Moo the s’ 3 answer is understood; two M7V are required for Mws1 1T MM 17,
but for 0 MOX one MY is sufficient, and here by v it is a question of N M MoK, whether the v was
written 7AW" or not.
5> mpoIN is not suggesting which reason the X3 should have used.
%It is only later that the X7n3 claims that since ¥R NWXT RMO°X PIANK, so this is also a MIyaw =27
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required that was said only in regards to place a prohibition, that is when

we require two 2°7¥, because one witness cannot be believed to place a
prohibition on a person, who up to this point of testimony was not under this prohibition,
therefore we require two 07V to create a MO°X; however to remove a suspected 0K, the
X713 says, one 7V is sufficient’.

mooIn presents a question of semantics on this X0X of N1 92:
= 855 INMDT 999Y INN N NIY U5 9INPT NN YaN

However, that which the X773 says, according to this X073, all n19y, this is

not properly worded; for what is the meaning of the word %> — all.
Seemingly the word 2> would indicate all nv1y that are mentioned in the 70, but this is
not correct, for —

— PYYTPA) 1PV2)] YWIN HYNRI INT O2IYN TN PR NITy¥aAY 929 99y

The main rule that a m9y2w 937 requires no less than two 27V this is

(only) concerning the M7y of W NWNR concerning 1w and P@7°P, where
we require two 07V that it be a valid v or PP

— N5¥2 DY NYDING YWIN NUNT O

And also establishing the adultery of a married woman requires two 2’7y,

who witnessed the adultery in order to prohibit her from living with her

husband®. However concerning all other N we do not find the requirement of 127 PX
oawn mno mvaw.'? The question therefore remains why does the X1m3 say N1y 2R, the
X3 should have said mw RK 1717 ™7 or something similar.

SUMMARY
There are two MR in our X%); whether we are comparing this VA7 2w to
N7y 95 (as MooIn prefers), or to Ny 3. The difficulty with the %5 X072

7 We would need to say that this distinction that '01n is making between °ni%> where one 7 is sufficient,
and T0OX? where two DY are required, is only concerning cases where there is no established precedence,
i.e. no npm that is in opposition to the m7y. For instance if one 7v would claim that a certain woman is
married — and we have no prior knowledge whether she is or is not married, then the 7 is not believed
MoR?. If he would claim however, concerning this same woman that she is not married, then he would be
believed °nnv. However, if there is a contesting 71, obviously one 7¥ is not sufficient to be 9°n» a known
wR N, for instance. In our case here, the m%w, who is saying 1"93, is merely stating that the v was written
Y. There is no 1P claiming otherwise, therefore at this point the 813 maintains according to this X071,
that one 7v is sufficient. Later the X3 claims that since based on his testimony we are permitting her to get
married, there is a 10X NP1 of WX NWR contesting the claim of the m°%w, and we should require two o*7v.
8 See ‘Thinking it over’.
 See TR X"WN.
19 One 7y is believed to testify, for instance, that this woman is or is not your sister, etc., thereby permitting
or prohibiting a marriage. See >"22 ,n"n2.

3

TosfosInEnglish.com



"1 "7 '01n 2,2 U .7"02

N is, if the X3 maintained originally that the w1 %W is comparably
with N7y, the proper response should have been that in some way he is
different than all N1y, and explain why. The text 7M0°X2 MR1 X"V is
seemingly not appropriate, according to this X073, for N7y are also 2" MOX
and (yet) they require two 7.

However m»oin concedes that the X773 means to say that even in N1 if the
purpose is to be 7°n an MOX then even an X"Y is believed, as opposed to
creating an 70°X, where two 07V are required.

Nonetheless one problem remains with this X07°) of n1°7¥ 95, namely that the
word 93 (which means literally all types of nvw), is superfluous, for the
requirement of two 2>7¥, by N1y is generally limited to the M7y of ¥X NWK,
and not the remaining n1"7y.

THINKING IT OVER
Why according to X032 mpoIn is the word 93, proper.!! Not all n17v require
two, as seen from 7"OR2 781 R"'Y?

1 See footnote # 8.
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